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Y12 Pure Chapter 3—Equations and Inequalities

What do [ need to be able to do? Y2 — Chapter 3 Equations and inequalties

—

Bu the end of this chapter uou should be abke to |f words:
' ﬁﬂﬂ smukaneals equalion vang elminalin or »  Smukareoss equations — Two o more equations that share
_ variabes
: Sohe amulareots Eqmim&w rear and one quadvalic «  Equiton — a mathenateal statemest cortainng an equdk
bterpret alaebraic solitiors of equalions graphicaly s, 10 show that two expressons are equal. On equaion wil
. ?ﬁiﬁwwﬁmﬂtﬂmﬁﬂﬁ hoe. i firile set of solitiors
. erprel requallies araphicaly *  lhequalty — On requally compores two vales, shoning If ong. €
*  Eepreserl bear and quadralc nequallies araphealy | less Thar, areater than, or smply rot 2qual To another uabe

rSoMm simulaneols equations

Erwolion  Make the coeffcients of ore of the unknowrs the same. [whichever seems easier) Lirear smularents equalions
0 Oidd or subitract the equations to elrnale one urknown
0 Soke. The. rew equalion To find the. first urknown
0 Substilute bock nto one of the onignal equalions to find the olier wknown

Substilution  Rearranag ore of the equalione I recessany) fo make either x or y the subect. Lirear onky and ore rear and
0 Substilule info the olher equation ore. quadralic amuloness
0 Sobe the. new equation to find x or . EqUAIDNS

0 Sustitule bock nfo wowr rearranged equation to find the valie of the ofker Effer.
*¥ after substituling uou gel a quodralic equation you can wge the. dsermnant Lo determine

the rumber of sollions
Grophcaly  On the same sef of axes draw the arapks of both smukaneous equatione Linear onky ard ore. e and
The. ponts of intersection wll gve. you the solitions ore. quadratic smulaneous
equalions
e— N
Linear inequaities Quadratic inequalties
We solve. Inear nequallies the same wou we would sobe | | To solve a quadralic nequaliy: alwaus do a guck skefch
equations, except uou gel a range of sobtions instead of | | {uou wil need to know the shape. and the roots) then look
ore. particubr soblion. for the. appropriate part of the araph (ie. <0 (below the
Eg Solie the inequalty 2x — 3 > x + 1 and skefeh | | x-axs) or >0 (dbove the x-awis) depending on whal uou
tre oulcome on a gragh \m& boking for
2x =3>x+1 Eg Sole the requally x* + 4x +3 < 0
2x >x+ 4 2 4+4x+3=0
_x}4: g=d=3 ol (x+3)x+1)=0
' ! x==3orx = =1 +— Thesz e the rools
|/ Tres is the point where Jx-3 becomes
I geder tranx| Wwe. wartt the. araph to be < 0 so we want to descripe

the x vabes that represert the part of the curve under

g AW
Remember! I you muligy or the x axis which we can see & 1<x <3

dnade. an megqualty by a
regolie rumber you have to

| reverse the nequalty sign
N/
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